% 2

RigEpH-F19F 1% 289
FRERE R FREFERNPRRARES

kot P B 109-2 3 B FLu ik B %
1 18R 815,000 20 F1/1 fp = H
2 LTS R 455,000 1157/1 o= ¥ =
3 Rk 450,000 971/6 i H i+
e S
4 FEFTEFIR 295,000 737/1 > E i heid - A
5 R E-1:3 80,000 2 ¥1
6 SEEE AT 353 150,000 3712 H ix
7 o EH 240,000 6 ¥1
8 BEE R 390,000 OFI2 fh+ ¥ i+
9 AT R R 255,000 6rL1 > H (+
10 9 E 45 335,000 8rrlfh> ¥ >
&3 3,465,000 813,15 B> ¥ >
) F]’i

1. 109'&}%?,{{&5)? 0 &Pt ety }i—‘J— Hﬁlsl'% IV p,bmr}gjﬁ '4/”Lr/ﬁi7 ru]g(jfjr(upx
%g*ﬁéwfﬂwfﬂ’ﬁﬂﬁ“w#3ﬂ4ﬁwﬁw4a@H¢&aﬂ Bz ot &
feifpt 15§ 7 &0 lI’T4,§]’}""‘ IER ©

2. %-T?n".ﬁ'és‘v\ﬁ'iFli}u%A} e o, </'-“r/7f=l/§7fiué oo BN ER L A A ik ey
AL pIRPREF SR 5o B HEF A EREABSRBERLE 35-&:-1’5’3#-
%% ?gﬁ%"%.&f]é o

3. HUAET PR hoT
1) *—‘#EM@%E PhrE L pE 2,000 (Gt e R 2 AR Pk A T 4

2.11%4#F = TH—"" (Ex.2,000+(2,000%2.11%)=%$2,042) » 4T 2% % & p ’5‘
(2) FFFRE R P PR Go F P2 3ot R -
(3) H f‘:‘éﬂ’IE pooiirlsd et bk’faePﬁff%%‘;ﬁcﬁiéﬁﬂfﬁFﬁé 238 P (ex.B R T~ B )
"E’T%FE?I%?P%S*;/EE%#\E‘%’ P oA (exEF ~1H T E‘f)
@ HEF ER R REFE IR 2 TR 2 TR/ RFR, 2B
HE 73 AES o
(5) * P efzaf 2t + LRF(FH 2 '*F?’).L 52§ Ao
4. 7@‘?“5,%"’@ Pk A A P Tt 4P
5. # - B ¥k K. ;?’ EALE £ R B RF

N‘N" ~
\_.
e ©
wm_h} Ny
%
x
(‘rﬂ'



https://acad.nkust.edu.tw/var/file/4/1004/img/221/L-4-3.pdf
https://acad.nkust.edu.tw/var/file/4/1004/img/221/L-4-3.pdf
http://accounting.nkust.edu.tw/var/file/20/1020/img/448/200936457.doc
https://acad.nkust.edu.tw/var/file/4/1004/img/216/F-4-6.docx

Lrinik- T4

kL

fe )

4

1
A ET

z HFLY|

I & riy

B g Ag/er

1 Frx

20 1
1> ">

2 AT AR %

WE I A% 4

1FEIREERE

[l R e

W A7 %

Woop 2L %

20
'1‘/‘{‘\'”)‘\’—' Bl

T ARk

HaE ARk

e x riEd 4Rk

NN RN [ = [ [N = | W DN

L o L

p—

L 21
=

=
(00}

@
¥
5
&

11 31
1> ¥

LE R ARk

[

BRI AR i

I AR A

QO = [ [ =

KT A ARFT

—_

11

GELE 35

9751L
6> H >

NN~ ©

Pz B g At

R%E LS =5 A

PlEEapl s -5

AL =21
FE

BEFE
2 12

7 7T
1> ¥ i

PEFESRE LS

— | O === = =

£ T

P Fefiix

FERF I A

21l =X =2 %
g ¥ F" ﬁlﬂ‘ ,ﬁ

L 21
P ®

~N (DN ===




S5 f 5| ST T FH Y| T &7y B 8 m/Hr
ey BRI Y I
5 g > AR AE K 1
2 51 &2 2 0 0
e L 2
ﬁgfﬁ YN :
6 Mir& g e 1 57 1
3 51 FAP LS B e 1
2 H > £t 3 0 2
R* P E K 2
7 PERE I B* B33 4 3
B AL 4 1
6 3T & 2t 6 0 0
A E T AAH 1
BT P 1 1
B R R E ARk 2
A EE R T AR K 1
3 W AR % 2 1
AEPHLAF LT i
# 15T
9 1 ﬁih%;gmiﬁa |
LS 3¢ ’
2 53t 7 2 2
PERSE N 1
T A LN 1
2 1 $raF 12k 2
9 BT AR 2
oz | PREBEAFER 1
- ﬁ ‘2 1 -
18 £ 2t 6 0 1
KA S SFE 2
KA & 7k 2
kB & Fa LA P o 1
10 BIETR B4R 4 1
AELABE B X 1 1
7R g 7’:\57 < 3L "9’
8 51 “rﬁ”ﬁt%jﬁé%- |
= _H 3 N ==
128 53t 7 1 1
L3 3,465,000 8lxi > 15> ¥ i




